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More Genetics Practice Problems: Chi-Square Test & Linked Genes

1. A large ear of corn has a total of 433 grains, including 271 Purple & starchy, 73 Purple & sweet, 63 Yellow & starchy, and 26 Yellow & sweet.

Calculate the chi-squared value for the null hypothesis that the ear of corn was produced by a dihybrid cross (PpSs x PpSs) involving two genes for color and sweetness. Explain the chi-square test results.
2. In a certain reptile, eyes can be either black or yellow. Two black eyed lizards are crossed, and the result is 72 black eyed lizards, and 28 yellow-eyed lizards.

Calculate the chi-squared value for the null hypothesis that the black eyed parents were heterozygous for eye color. Explain the chi-square test results.
3. A sample of mice (all from the same parents, P) shows:
· 58 black hair, black eyes

· 16 black hair, red eyes

· 19 white hair, black eyes

· 7 white hair, red eyes

a) What were the genotypes and phenotypes of the parents?
b) Use a chi square-test to support your hypothesis.

4. A wild-type fruit fly (heterozygous for gray body color and normal wings) was mated with a black fly with vestigial wings. The offspring had the following phenotypic distribution: wild type, 778; black-vestigial, 785; black-normal, 158; gray-vestigial, 162.
Calculate the recombination frequency (%) between the linked genes for body color and wing type.
5. In another cross, a wild-type fruit fly (heterozygous for gray body color and red eyes) was mated with a black fruit fly with purple eyes. The offspring were as follows: wild-type, 721; black-purple, 751; gray-purple, 49; black-red, 45.
Calculate the recombination frequency (%) between the linked genes for body color and eye color.

6. What fruit flies (genotypes and phenotypes) would you mate to determine the sequence of the body color, wing shape, and eye color genes on the chromosomes?
7. Determine the sequence of genes along a chromosome based on the following recombination frequencies: A-B, 8 map units; A-C, 20 map units; A-D, 25 map units; B-C, 12 map units; B-D, 33 map units.
[image: image1.jpg]Table 5.3. Chi-square value

Degreror Froba o [T
i % significant | fcnt | sigmificant]
w55 030 Tos0 [o0 [ om0 w0 00| o0 oor

! Goor o oo Tors [ os | 107 | e | 271 ca
2 oto | o2t [oss |71 | 139 | 24 | 22| as0 521
5 o3 | o5 [ 01 | 1aa | 23 | 36 | ae4| 625 134
. on | vos [1as |2 | 336 | ass | 530 | 77 1328
5 Via [ a1 {23 | 500 | 35 | e | 7 | o26 1560
. 165 [ 2m (500 |38 | 535 | 725 | 56 | 106t st
7 i |28 [0 |4 | 638 | 638 | o0 | 12w 184
s 235 | a0 (430|555 | 734 | o2 | 1105 | 1236 00
5 532 | 417 [3 [ 63 | 54 (1066 | 1224 | s e
. 394 | ass |18 | 721 | o3 s | st 1539 521





